1D pull distribution

asym_hcm_target (ppb)
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asym_bcm_target RMS (ppm)
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1D pull distribution

-0.001571+ 0.04981

Mean

0.3661 + 0.03522

Std Dev

Underflow

1.043/2

31.75 +5.50
0.01639 + 0.04960
0.3551+ 0.0375

Overflow
X2 / ndf
Constant
Mean
Sigma

7.236 /53
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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 RMS (ppm)
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1D pull distribution

-0.002251+ 0.04782

Mean

0.3514 +0.03381

Std Dev

Underflow

Overflow

0.04403/1

X2 / ndf

31.13+5.32

Constant

-0.0101+ 0.0509

Mean

0.3694 + 0.0387

Sigma
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6.667 / 53
.19 + 190.
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asym_bcm_dg_us RMS (ppm)
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asym_bcm_dg_ds RMS (ppm)
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1D pull distribution

0.02409 + 0.143

Mean

1.05+0.1011

Std Dev

Underflow

Overflow

5.098/6

X2 / ndf

9.459 +1.772

Constant

0.04371+0.18612

Mean
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il
6

AN e
0

59.62 /53

8.607

X2 / ndf

2
0||||||
-8

8.718

+

pO

diff_bpmE (nm)




diff_bpmE RMS (um)
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1D pull distribution

diff_bpm4aX (nm)
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diff_bpm4aX RMS (um)
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1D pull distribution

-0.02015 + 0.1394

Mean

1.024 + 0.09857

Std Dev

Underflow

Overflow

1.334/6

X2 / ndf

10.1+1.8

Constant

-0.1016 + 0.1894

Mean
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56.69 /53
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diff_bpm4aY RMS (um)
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diff_bpm4eY RMS (um)
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diff_bpm12X RMS (um)
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